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MNU 4-03a          Homework 3        Bronze Level 

Choose your strategy for the following  
questions…then solve the problem! 

Outcome 1 

Problems in Context 

Helen bought a £4·10 sandwich,  
a 99 pence pear and a 56 pence  
biscuit for her lunch. How much  
did she spend in total? 

During turbulence, a plane lowered  
it’s altitude from 32 586 feet to  
30 728 feet. How many feet did  
the lane drop it’s altitude by? 

There are 60 seconds in a minute.  
How many minutes are there in  
9900 seconds? 

Dominic has an interest free loan  
from his dad. He will repay him in  
full by paying him £30 per month  
for 3 years. How much did he  
borrow from his dad? 

Outcome 2 - Long Multiplication 

Work out the answers to the following… 

67  17              99  12 
 
 
 

 
578  15  724  19 
 
7777  11  4063  14 

Outcome 3 - Long Division 

Work out the answers to the following… 

1152  16 1512  18 
 

 
192  12 918  17 
 

 
912  19 990  15 
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